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B.Ed. 2nd Semester Examination, 2020
Pedagogy of Language : (Part-I) : Sanskrit
Course: 1.2.7A
Time: l'fg Hours Full Marks: 35

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their own words
as far as practicable.

Group-A
Famr: %
(Marks: 10)
[Answer any five from the following questions, each within 50 words. ]| 2x5=10

[FenTTorfRra S TS I FAT Yo 91 ]

(1) Write down two behavioural objectives of Sanskrit Language Teaching.
(ii) What is the Inductive Method ?
FT AL TRTE I ?
(ili)  Write three phases of the teaching process.
forerorsrraTa: Sfor e feregear |
(iv)  Mention two differences between language and dialect.
HEFATIT-STA AT JeF g fEgo |
(v)  How many types of Sanskrit prose in India ?
qTeAaT FHiAfaeT deparerrAe 7fe 2
(vi)  Write down four theories of Sanskrit language teaching.
(vii)  State two Principles of Sanskrit Language teaching as a third language.

g TR FepaaTaTiorsrer {1fagd e |

Turn over



WBUTTEPA

Group-B
AT &
(Marks: 15)

[Answer any three from the following questions. each within 150 words :]

[srerTferfaa Targ TraaeI=a? 397 A 44 e 93]

Write down four steps of Sanskrit Language Design.
A ATERTHSTS =T FeAT AT fora |

State the causes of spelling mistakes in the teaching of Sanskrit Language.

TEFAATIT T AR FT0M Haeaar |

Discuss any three methods of teaching in Sanskrit Poetry.

FEFA TN T A=Ay |

What are the objectives of the teaching Sanskrit drama ?
A ATATTOTATTErT AT TT0r HTfA ITACATHR 2

Write any six features of direct method in Sanskrit teaching.

HEAATAT AT T TZ: T2 aforeanta Ao

Group-C
EEILPEIE
(Marks: 10)

[Answer any one from the following questions, within 300 words :]

[STerTferfaa T FAHFaT S14ar 300 T3]

What is Achievement Test ? Write its four characteristics. Write its two merits

and two demerits.

FT TR AT 0 gem: searty Ffereats foreraT | s Jifaergs

ARIAoTET 7 o |

Discuss the relationship between the Sanskrit language and dialect.

AR AATITTATTTHET Al ATAT=997H |
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